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1. H9R 9l ¥ e € 1.

(A) RIS
(B) T
(C) TH-Iad!
(D) Suda Wl

2. U TR P Hified Tge] & 2.

(A) TR sea
(B) X U<
(C) SdE TTH
(D) SWE & W B &l

3. fowor @1 o BT UG A oW 3

(B) fRweror
(C) A
(D) IR

4. VNOR IR ®U W 99 WA F gwfid 4

g ol g :
(A) AMEIS

(B) el
(C) AUH Y ¥ S AR

(D) SWad # | BIS T

AG-606 (3)

Communication barriers include :

(A)
(B)
(©)
(D)
The
is

(A)
(B)
(®)
(D)

Social
Semantic
Technical

All of the above

material aspect of an innovation

Idea component
Object component
Product component

None of the above

Diffusion can be considered as the subset

(A)
(B)
(©)
(D)

Communication
Teaching
Learning

Motivation

Diffusion is essentially concerned with

messages that are :

(A)
(B)
(©)
(D)

Profitable
Vital
Widely known

None of the above

Set-D



5.

foodl @fdd a1 |mfie e & fog
U AR Bl GShATHD YT :

(A) e R

(B) 3y URUMH

(C) dB~Ig gRM

(D) 3B YRUTH

JAYqdDl gRT Tfed STIReAT Bl Tferd

(A) 2:5%
(B) 7:5%
(C) 16%
(D) 34%

R Rt & o < a1 & w9 § T

B B |

(D) SWa ¥ ¥ I3 T
9l $ SFTAR FAR DI THAH UlshaT @

(A) YT BT

(B) TR &=l
(C) STINIT FRAT

(D) ST W

AG-606

(4)

The dysfunctional effect of an innovation
to an individual or to a social system :

(A) Direct consequences

(B) Indirect consequences

(C) Desirable consequences

(D) Undesirable consequences

The percentage of population constituted

by innovators :
(A) 2:5%
(B) 7:5%
(C) 16%
(D) 34%

is the degree to which an

individual acts as opinion leader for a

variety of topics.

(A) Monomorphic leadership
(B) Idiomorphic leadership
(C) Polymorphic leadership

(D) None of the above

According to Berlo the sole process of

communication is :

(A) To influence
(B) To pursuance
(C) To stimulate

(D) All of the above

Set-D



10.

11.

12.

frfoRad & & WaR & dH-97 Hied
SR g7 feam Ty e ?

(A) SMCRE
(B) CMCTAR
(C) SMCR

(D) SWH # | B T
J-3ATIRR BT B :

(A) BRI

(B) oFT

(©) few

(D) =

Ud FarIR DI APl RT3 ?

(A) TH FaER B 7 U @7 Aoy

(B) TP WATAR &l 31T Pl f+org
(C) RIIT & 91 A &1 g

(D) SWa ¥ ¥ I3 T
TIER & T § AEfaRad § 9 -
T I & fory fferp BrRICHT ® 7

(A) Fera ifiaxo
(B) <fohd IRTIeHvT
(C) 3rARF 3ffiaxur
(D)  3TH-3 AT

AG-606

(5)

10.

11.

12.

Which one of the following models of

communication was given by Leagans ?

SMCRE
CMCTAR
SMCR

(A)
(B)
(©)
(D)

None of the above

The re-invention occurs :
(A)
(B)
(©)
(D)

Implementation
Persuasion
Confirmation

Knowledge

What is rejection of an innovation ?
(A)
(B)
(©)

Decision not to adopt an innovation
Decision to adopt an innovation

Decision to stop after

implementation

None of the above

(D)

Which one of the following regarding
innovation is more beneficial to the
society ?

(A) Passive adoption
(B)
(©)

(D)

Active adoption
Overadoption

Underadoption

Set-D



13. e e de g s ™ 13, s is the degree to which an

Uh AR Bl TN foRaT S AT 2| innovation may be experimented on a

limited basis.
(A)  TXETOT I (A) Trialability
(B) YAIA AR (B) Predictability
(C) 3FaAH I (C) Observability
(D) TUET T (D) Relative advantages

14. WWWW@WWW&W 14. The first study of diffusion was

1043 ¥ Rpe gRT fobar AT o ? conducted on hybrid seed corn in 1943
by :

(A) o (A) Rogers

(B) UM R UM (B) Rayan and gross

(C) TfsTd <re (C) Gabriel Tarde

(D) IRIdet (D) Lasswall

15. TP TR Pl El‘g’—%ﬂ?ﬂ'ﬁ = @ T w7 15.  Multiple use of an innovation may be a

3 FET D form of :

(A) U o (A) Relative advantages
(B) Nl (B) Compatibility

(C) ifcerd (C) Complexity

(D) 3MFAHT AR (D) Observability

AG-606 (6) Set-D



16. f=foRad # ¥ H-U Td TIER @ 16.  Which one of the following is not the

A Y attribute of an Innovation ?
(A) FIdd (A) Compatibility

(B) 3idcllh< &HT (B) Observability
(OBGEIRIES! (C) Flexibility

(D) AT T (D) Relative advantage

17. TaAR fola ufar fows gmr & w=i 17. The Innovation decision process was

o 2 given by :
(A) el (A) Berlo
(B) (B) Rogers
(C) e (C) Lasswell
(D) dfT=a (D) Leagans

18. Y I BT U AT IRATBR B 18. The uncomfortable stage of mind to adopt

@ folT 799 DY ITET ofaver B or reject an Innovation is :

(A) SRl (A) Rejection
(B) M (B) Dissonance
(C) fawed (C) Discontinuance
(D) I (D) Innovativeness

AG-606 (7) Set-D



19. MG Fae & el gRT o1 e
M & W VF TER R A E,
Y Pl I ¢
(A) TS o @ fafey
(B) Hdiar
(C) T o &l
(D) AR fofy ufsar
20. U fURl ¥ WRfG §aR, § 6, @
"""""""""""" & HY H S AT E |
(A) TR
(B) ¥@R
(C) TaER
(D) SWad # | BIg T2
21. IR &1 Ugdl Ated fbas gRI fear
o ?
(A) ANdA
(B) SI¥]
(C) oF
(D) ¥
AG-606

(8)

19.

20.

21.

The relative speed with which an

innovation is adopted by the members of

the social system is known as :

(A) Adoption period
(B) Innovativeness
(©)

Rate of adoption

(D)

Innovation decision process

Communication, in which messages are

concerned with new ideas is known as

Diffusion
Communication
Innovation

None of the above

First model of communication was given

by :

(A) Lasswell

(B) Aristotle
(©)

Leagans

Schramm

(D)

Set-D



22.

23.

24,

“Reger 3l g Jxae fdue
&N fordl 7 & ?

(A) IO IR AHDR

(B) TH. Sfl.

(C) N

(D) H R I

qg el & o @ ve afdd =
A & W DI AFTERG wY
AME JMIRT & A TG G H HeH
Bl 2|

(A) T G

(B) Hdiar

(C) UER & X

(D) SWa ¥ ¥ I3 T
faeRoT P T PIE-T E P
(A) e

(B) WIR dTA

(C)

(D) ST W

AG-606

(9)

22.

23.

24,

The book “Diffusion of Innovations” is

written by :

(A)

Rogers and Shoemaker

(B) M. G. Ross

(©)

Rogers

(D)

Rayan and Gross

.......... is the degree to which an individual
is able to influence attitude of other

individuals informally with relative

frequency.

(A) Opinion leadership
(B) Innovativeness
Rate of diffusion

(©)

(D) None of the above

Which is the element of diffusion ?

Innovation

(A)
(B) Communication channel
Time

(©)

(D) All of the above

Set-D



25.

26.

27.

AG-606

feweH ufsrr 1 g9 &
(A) fa=mos
(B) fama
(C) Hdell
(D) fbaH

............ leawmaﬂéﬁl@(@
YT A ARG TR B A 3

gRT a1 T ST 2 |
(A) Nifd-Rart

(B) WER

(C) FdrER

(D) WAHEAR

freferRad & W d9-dl fa9ydr TaeR @

U W THRIAD ©Y § FHRId & 2

(A) TUeT A
(B) Sifcemr
(C) Hrddr

(D) SWad # | BIS T2

(10)

25.

26.

27.

Heart of Diffusion process is of :

(A) Advertisement

(B) Selling

(C) Imitation

(D) Farmer

......... is an idea, practice or object that is

perceived as new by an individual or

other unit of social system.

(A) Folkways

(B) Diffusion

(C) Innovation

(D) Mores

Which one of the following attributes is

negatively related to adoption of an

Innovation ?

(A) Relative advantages

(B) Complexity

(C) Comepatibility

(D) None of the above

Set-D



28.

29.

30.

AG-606

TS ol B9 9 ¢ :

(A) T I
(B) UKiddl S

(C) I vE

(D) SWa &l

‘D-HYMDY DI JFIRI FEH  TEd
frera g fawRad @ g off ?

(A) Brdels

(B) e

(C) e

(D) woNHcS

P-4l el sfoRed emifed eI
T g ?

(A) BT

(B) MR

(C) wgaRed

(D) SUYa H A Bl 7l

(11)

28.

29.

30.

Feedback is basically :

(A) Message oriented

(B) Receiver oriented

(C) Source oriented

(D) All of the above

The concept of ‘key-communicator’ was

first developed by :

(A) Hovland

(B) Mead

(C) Knowles

(D) Lazersfeld

Which distortion gives extra unwanted

information ?

(A) Fog

(B) Mirage

(C) Systematic

(D) None of the above

Set-D



31. SMCR f&daT JaR Afed 3T &ear g ? 31. SMCR indicates whose model of

communication ?

(A) A9 @7 Hed (A) Schramm’s model
(B) o’ HiSel (B) Leagans’ model
(C) al &l Hed (C) Berlo’s model

(D) ghHH BT Al (D) Newcomb’s model

32, ERUISH® e Aied f=feiRaa & 4 o4 32. Hypodermic Needle Model is based on

R R AIRA £ 2 which one of the following principles ?
(A) M-S Rgr (A) M-S principle
(B) T-sRrgr (B) T-S principle
C) Q-Afigr (C) Q-A principle
(D) S-RRIEM (D) S-R principle
33. QY HIAR U @ 33.  ldeal communication is a :
(A) UH T Bl Y18 (A) one-way flow
(B) I TRE I Yale (B) two-way flow
(C) I (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above

AG-606 (12) Set-D



34. wrmmm PN E}ﬁ Q:l.E{ aﬁﬂ ‘dNdl % Trﬁ 3. refers to diffusion that

100% 319 9 et q-éam%\rl does not reach or approach 100%
adoption.

(A) DI (A) Rejection

(B) Ulidhd UER (B) Adverse diffusion

(C) 3Id%hel YR (C) Failed diffusion

(D) SUga H H Bl 7Tl (D) None of the above

35. ‘TR’ Iec T a9 9 forar T 2| 35. The word ‘communication’ is derived

from ................ language.

(A) B (A) French

(B) Wao (B) Greek

(C) ofes (C) Latin

(D) Ul (D) English

36. Bac §m fefalRad # 9 fog fomar 36. Crop insurance is the example of which

T IR & ? of the following attributes ?

(A) FIR® FaER (A) Preventive innovation

(B) YalgHa (B) Predictability

(C) TRIET AR (C) Trial ability

(D) & T (D) Relative advantage
37. VOR RIEMT & Qa9 B § ? 37. Who is the forefather of the diffusion

theory ?

(A) 3. W o™ (A) E. M. Rogers

(B) . A I (B) C.M. Rogers

(C) Sfis ¥ (C) David Bell

(D) Vst <re (D) Gabriel Tarde

AG-606 (13) Set-D



38.

39.

40.

41.

AG-606

SRGI T 3Md JIRT [ SR
g ?

(A) BB SR &l AYH]

(B) fRM® Ta@R

(C) Rerar

(D) SWH # | B &l

""""""""" ¥ RER Sg g¢ afed B € ol
AT & YaE ¥ IS & & |

(A) ¥ g

(B) WNIR dcad
(C) ¥R i
(D) Thfcwma A4

fefiRad # 9 dIF-91 TarER ol &
qRTH & ?

(A) dOIT g9 AABY

(B) Ucdel M IfYEl

(C) T (A) 3R (B)

(D) SWad # | BIg T2

WUR & ol el BT favargel geei

(A) A
(B) fdvag-ryar
(C) wwrasfierar
(D) fer

(14)

38.

30.

40.

41.

Excess use of fertilizers is the example
of :

(A) Over-adoption
(B) Preventive Innovation
(C) Sustainability

(D) None of the above

......... consists of interconnected

individuals, who are linked by the flows

of information.

(A) Opinion leadership
(B) Diffusion network
(C) Innovation decision

(D) Ciritical mass

Which of the following is consequence of

Innovation decision ?

(A) Desirable vs. Undesirable
(B) Direct vs. Indirect

(C) Both (A) and (B)

(D) None of the above

Faithful performance of all the elements
of the communication :

(A) Competence
(B) Credibility
(C) Effectiveness
(D) Fidelity

Set-D



42. 98 Rufy &I ¥uarRe &k 4l EAY 42. The condition where the communicator

= T and audience are similar in certain
attributes, such as—belief, education,
fowe, i Refd ok o sife a1 social status and likes etc., is known as :
D HY H ST AT R
(A) EHITel (A) Homophily
(B) TeMthell (B) Heterophily
(C) THI (A) ¥R (B) (C) Both (A) and (B)
(D) SUYw H H I el (D) None of the above
43. ST fpddT Serewor § ? 43. Radio is the example of :
(A) afed Ie fafy (A) Individual contact method
(B) RS fafYy (B) Mass contact method
(C) U W9 fafy (C) Group contact method
(D) Sugad Fl (D) All of the above

44. =fRad § 9 -9 TaRR A @ 44. Which one of the following is a type of
Innovation decision ?

TP YHR © ?
(A) IHBicIP (A) Optional
(B) Hfe® (B) Collective
(C) W&y (C) Authority
(D) SWa &+l (D) All of the above
45. KPDIC® : 45. KPDICisan:
(A) foar Rreror gfsar (A) Extension Teaching Process
(B) ferd ufgham (B) Educational Process
(C) "R fofy ufgean (C) Innovation Decision Process
(D) SUYa H A Bl 7l (D) None of the above

AG-606 (15) Set-D



46. TAR P IoHIae Hied fhags gRT foar 46.

TR ?

(A) rT

(B) el

(C) e

(D) STda ¥ & Big T

47. IR P GEHY § 47.

(A) T ¥
(B) T A
(C) HeIH 9

(D) ®RITdc |

48. IFA-dIR HfSd Bl R fhg 99 | T 48,

ST © ?

(A) INHIIS dfsd
(B) T Hied

(C) WIER Hisd

(D) SWad # | BIg T2

49. JarER o gibar & qoRT 49,

& forv Sawe THY @ oETE BT 2 |

(A) TaEaR iy aafy
(B) TRCIN 3fafd
(C) Mftpaar safy
(D) 3FIIHROT Aqe

AG-606 (16)

Political model of communication is

given

(A)
(B)
(©)
(D)

by :

Leagans
Berlo
Lasswell

None of the above

Noise is related to :

(A)
(B)
(©)
(D)

The

Audience
Message
Channel

Communicator

Shannon-Weaver’s model is also

known as :

(A)
(B)
(©)
(D)

pass

Political model
Mathematical model
Behavioral model
None of the above

is the length of time required to
through the Innovation decision

process.

(A)
(B)
(©)
(D)

Innovation decision period
Gestation period
Dormancy period

Adoption period

Set-D



50.

51.

52.

53.

AG-606

ffeiad 5 9 dF-a1 JaER ol
YfshaT BT Ul TR © 2

(A) TIFTH®

(B) M

© @f

(D) ST

AR & o Hiee # forae dw § °

(A) 4
(B) 5
C) 6

(D) 3

49 T & WY B a9l @ AH |
U FaER & GAR B Glhar 2 |

(A) TR
(B) IR
(C) AR
(D) ¥R

UG Afdd T Tg H TArER D F3Md &
qTE S AT & | S DET Sl & :

(A) URMIS qgAd

(B) TIea! YA dTell
() 3rfieRar
D) fisst

(17)

50.

51.

52.

53.

Which one of the following is the first

stage of innovation decision process ?

(A) Awareness
(B) Knowledge
(C) Interest

(D) Persuasion

How many elements are there in the

Leagans model of communication ?
(A) 4
(B) 5
(C) 6
(D) 3

........... is the process of communication of
an innovation through certain channels
over time among the members of a social
system.

(A) Diffusion
(B) Adoption
(C) Innovation

(D) Communication

An individual adopts the innovation after
its introduction in a village. It is called
as:

(A) Early majority
(B) Early adopter
(C) Innovators

(D) Laggards

Set-D



55.

56.

AG-606

(D) TG

g8 ol ? o 9% e afdm

AT R & 3 Fawl Bl Jorl
§ U ARt @1 ST # e Ued
gIe B |

(A) BT

(B) Hdal

(©) ¥y

(D) SWa ¥ ¥ I3 T

Sl YRS GgAd $ faRIdis &1 9ol

AT B, e [T
(A) URAR®
(B) <A

©) fdaR®
(D) SERA

(18)

54.

55.

56.

Early adopters is known as.............. :

(A) Laggard

(B) Skeptical

(C) Venturesome

(D) Respectable

.......... is degree to which an individual is

relatively earlier in adopting new ideas

than other members of a social system.

(A) Homophily

(B) Innovativeness

(C) Innovators

(D) None of the above

Which describes the characteristics of
early majority, the best :

(A) Traditional

(B) Skeptical

(C) Deliberate

(D) Venturesome

Set-D



57. ¥ & AR G@R MU ufkar § 57, According to Rogers how many stages

b TR B & 7 are involved in innovation decision
process ?
(A) 3 (A) 3
B) 7 (B) 7
€ 5 (C) 5
D) 9 (D) 9
58. fa=foRed § & #9-) 9UR ufshar =8]  58. Which of the following is not a
39 communication process ?
(A) drd (A) Source
(B) THIfST (B) Encoding
(C) ciaMEH (C) Transmission
(D) 95® (D) Meeting
59. AR Ufshar @ Rer fhar o 2 59. Communication process is stabilized by :
(A) BISdd gNT (A) Feedback
(B) fdvag+RIal g (B) Credibility
(C) deT gRI (C) Channel
(D) AT ERI (D) Empathy
60. VAR IS W YA R UgT W WR  60. The communication skills that get
Ty emphasized on listening and reading :
(A) (A) Attitude
(B) WHIa (B) Effect
(C) AT (C) Encoding
(D) fedIfST (D) Decoding

AG-606 (19) Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR FRI9T SR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE AT GeH SHE SR BIe © |
IR Bl OMR NRR-e § Fd g9 awar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
ST TR T U IR T2 Plel IT 98ell 1T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM @ b GEM & A0S fodd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U9F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd YT & 3remar 3 del W foar
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ug forl WM |

8. WIeT 9Ud & ST Wt der fRierd @l
3T OMR Answer Sheet SUTE &XM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. ffeq wfdT =& 2|

10. @5 W X% PR, YEH-GRAST B A H, IG-HR
& forv fou @reh o W & far o =iy |

11, qe-del H -4, dedgeicy, UoR qT Hegelk
B o ST T SHBT START BRAT afoid 8 |

12. 9 & &=l U9 Ul wURor § A=Tar 89 @
T H YT BT U WURYT & A BT |

qecaqul : YEIYRKIT Wiel W Y Wi PR o o

2y
i3
E
oy,
a,
j
8
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